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7.  Laura is £32 short of £300.  She wants to buy some England tickets.  They cost £45 each.  How many can she buy?























8.  Skye is 1.43m tall.  If she grew the same amount every year since she was born 9 years ago, how many cm has she grown each year?  


























9.  Luke’s brother weighed 4.5kg when he was born.  His weight doubled in the first year and tripled in the second year.  It quadrupled in the 3rd year.  What did he weigh when he was 3?
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4.  All the children in West View were going to Lightwater Valley.  There were 365 children and 36 adults going.  How many coaches were needed if each one seated 55 passengers?























5.  Cory had 254 leaflets to deliver and Chloe had 104 less.  They bundled them in packs of 25.  How many packs did they have?


























6.  Natasha bought 165cm of ribbon for her dolls’ hair.  She cut it into pieces, each measuring 22cm.  How many dolls got a ribbon out of it?








1.  Rebecca’s reading book had 238 pages.  She read 20 pages every night.  How many days did it take her to finish the book? 























2.  Emily has a bottle of medicine.  It holds ¼ of a litre.  She uses half of it.  How many spoonfuls are left if each spoon holds 9ml?


























3.  There are 38 children in Y3, 49 in Y4 and 57 in Y5.  If 12 children are allowed in each Golden Time group, how many groups will be needed? 
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4.  There were 129 children and 10 adults going on the school trip in coaches.  Each coach seated 25.  How many people could not fit on?


























5.  Jodie had 104 leaflets to deliver.  She bundled them in 8s.  How many bundles of 8 did she have?


























6.  Jack bought 9 packets of polos for 22p each.  He paid in 5p coins.  How many 5p coins did he use? (There might be 2 steps?














1.  Chantelle needed 56 plastic cups for her party.  They came in packs of 6.  How many packs did she need?  


























2.  Paige has a bottle of medicine.  It holds 135ml.  How many spoonfuls will she get out of it if each spoon holds 5ml?


























3.  There are 94 children in Y3 & Y4.  If 10 children are allowed in each Golden Time group, how many groups will be needed? 
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4.  There were 35 children going to the match in cars.  4 children could fit in each one.  How many cars were needed?


























5.  Sam had 41 leaflets to deliver.  He bundled them in 6s.  How many leaflets were not in a bundle of 6?





























6.  Kieran bought 7 packets of polos for 15p each.  What was the total cost?














1.  Lauren bought 24 bottles of pop for her party.  She carried them home in boxes of 5.  How many boxes will she need?  


























2.  Terri-Leigh has a bottle of medicine.  It holds 49ml.  How many spoonfuls will she get out of it if each spoon holds 4ml?


























3.  Mrs. Todd split her class into groups of 3.  She has 29 children.  How many groups of 3 were there?





�








My Little Book of Word Problems (Rounding after Division)























Name ___________________


Date __________











Underline the important numbers and words and the question:





Mark spent £4.78 on a book.  How much change does he get from £10?





Write out the calculation:





Solving Word Problems

















Which operation will you be using?

















Estimate your answer __________





My answer in a sentence is…

















Was your estimate close?





Do you need to add on any units?  


cm ml kg g m ml seconds degrees 














Show your working out here:








